Mathematics

Section Id : 40503677

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 25

Number of Questionsto be attempted: 25

Section Marks: 100
Sub-Section Number: 1
Sub-Section Id: 405036126
Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If for all real triplets (a, b, ),
f(x)=a+bx+cx?; then Li f(x)dx is equal

to:

Options:
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Afe |Hl ardias B#1 (a, b, ) F faw,
f(x)=a+bx+cx? T, j.;_,lr_(l}dl T E

Options:

3 %{f{ﬂ} * f[ %]}

, stz
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1
825 didlds Byzlal (a, b, ¢) w2, =

f(x)=a+bx+ca? ¢id, dl J{:.Hﬂdx

Options:
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Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The number of real roots of the equation,
ey et gt et +1=01is:

Options:

1.1
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Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

THTF IO e 3% 42X f ¥4 1=0 &
Options:

1. 1

I

2.

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wlszel efr e —4e2i b et +1=0 Al
qiclels eflogl 2dva sedl 2

Options:

1. 1

e
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Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 Qcollegedunias
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Let z be a complex number such that

z I. 4
Z+ 2N
and |g| _ 3 Then the value of |z +3i| is
2
Options:
15

1. 4

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

z -7
Z+ 2

HA 2 U U afmg gEn g, R

T A || = % T Az 431 TMEAAE

Options:
15

1. 4

2. 2
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Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

z—1
z + 24
A ., ol [z+31] Al Bud

352 vyl z W2 =1 244 2| =

Options:
15

1. 4

2. 28

YN

4. V10

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1 ¥ 2
If the matrices A= |1 3 4| B=adj A
1 1 3
and C=3A, then :ail%_ﬂ is equal to :
Options:
1. 2
2. 8
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Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

1 1 2
afg Ar=ge A=|1 3 4|, B=adj A T
1 -1 3

C=3A% @ éa‘_gﬁf FHA S

Options:

i; 2

4. 7

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1 1 2
o Bellsl A=|1 3 4|, B=adj A

I =1 8

bt - d Bl
C—sadua®i._
C

Options:
1. 2
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Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If for some a and B in R, the intersection

of the following three planes

x+4y—2z=1
x+7y—5z=p
x+5y+az=>5

is a line in R>, then a+B is equal to:

Options:

1. - 10

2 ™

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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afg R d fFel o 901 g F fau, f/= 9=
&

xt+4y—2z=1

x+7y—5z=p

x+5y+az=>5

1 fsged, R H U W@ 2, 9l a+ B 1 94
£

Options:
1. —10

4. 10

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ol 5195 o, B e R W2 0L H¥ddl

xt+4y—2z=1

x+7y—5z=p

x+5y+az=>5

AL 55 =l RP Al 25 2wl ely, dl
atp=_. .. . .

Options:

1. —10

2.0
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If the number of five digit numbers with
distinct digits and 2 at the 10t place is
336 k, then k is equal to:

Options:

1. ®

4, 4

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

oI SEE T {2 ¥, FT HE336k B, Tk
T

Options:

1. &
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

syl £215HL 22 2 2l Sl 2 “dls 2151
[Bimd @i aell wim 2isiHl vl dval s

336 k ¢4, dl k=

Options:

1. 8

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

The product
B R L
24 . 416 - 8§48 . 161F -
is equal to :

Options:

1 1

1
2. 22

to =
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Question Number : 57 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

1 1 1 1
MUTATRE 24 - 416 - 48 . 161F
T E

Options:

T, 2

Correct Marks: 4 Wrong Marks: 1

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

1 1 1 1
UBUSR 24 - 476 - 38 . 16128
Bu sedl i ?

Options:

1‘1

b~o

L]
b
] vt

e ydl Al

= s =
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

sin(a + 2)x + sinx

f cx <0
\ X

It f(x)=1 b =
] B 1: 1:
[E+ay=— e
t x/3

is continuous at x=0, then a + 2b is equal
to :

Options:

1. -1

2.0

Question Number : 58 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

isin(a + 2)x + sinx

i ——

. rx <1
Ffe f(x) = { b st =14

| (x 2308 04

:(.1}3.1 1 X oY

| 273

xzﬂmﬁﬁﬂ%, da+2b FHEAE
Options:
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

i

|sin(a + 2)x + sinx

- rx <0
| X

sl f(x) = 4 b x =1
L et R

| Hy
| x 3

w r=0 22N Hdd ¢ld, dl a+2b

Options:

1. -1

Question Number : 59 Question Type: MCQ Option Shuffling: Yes Qcollegedunias
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A spherical iron ball of 10 cm radius is
coated with a layer of ice of uniform
thickness that melts at a rate of 50 cm® / min.
When the thickness of ice is 5 cm, then the
rate (in cm/min.) at which of the thickness

of ice decreases, is :

Options:

1. 36w

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Eﬂ?lﬂcmﬁ?mmFﬂWﬁ%ﬁﬁaﬂﬁ
% &1 TH GHA HI=2E Al 7 8 99
T 2, 9 % 50 cm®/min #1 20 § fyserd
& | 59 9% 1 9 HI AL2E 5 cm ¥, 39 99
9% i HIZTE % 24 $1 &% (cm/min H), &

Options:
i

1. 36r
5
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sg-ll Clsatl 10 2l €M detl divisHl 2iusi
ol 2AsaiA sastd 2 ddl Zla clrsl 2z <
2 sveEl 2uda 89, o 50 2HL3 /Bl A
22 2l bl 5. sl orsHl sastd) 5 3L iy,
U2 oizsAl sastd-l desidl g2 (3L / BlAza)
Sed !

Options:

1. 36w

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Let f be any function continuous on [a, b]
and twice differentiable on (a, b). If for all
xe€(a b), f'(x) >0and f"(x) <0, then for

any c € (a, b), % is greater than :
Optiqns:
b—¢
1, €—a
C= 8
2. b—g
3, &
b+ a
4] b-a

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HAT f 1% FeH € Sl [a, b] § Haa ao
(a, b) ® 2 IR FATFHE 21 A T
xe(a,b) FEATC £ (x)> 0T f'(x)<0 & 7

fHT o ce (a, b), & oW [ /@) g

f(b) = f(c)
H Y frad T g?
Option.s:
b-c
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

4RLE 519 [GA4 f 2 [a, b] 4l Hdd 24 (a, b)
dig-sadl 5. sdxe(a, b) w2 f'(x)>0
2 (%) < 0 €14, ol 51E48L c e (a, b), HE

f0)~ £ Dol et s s &
L el sttt sl HE SiL)
f(b) — f(0) *
Optiqns:

b—rc
{1 £==

c— a
A b-c
3 1

b+ a
/], b-a

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If f'(x)=tan " !(secx + tanx), '21{3::: %,

and [(0)=0, then f(1) is equal to:

Options:
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Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

afg f'(x)=tan " !(secx +tanx),

-E"'{x{ = FAAf(0)=0 T, @ f(1) W]

2

HFT%:

Options:

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcollegedunias
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sd f'(x)=tan ~!(secx + tanx), % Lx2
2 £(0)=0 €4, di f(1)=

Options:
™ 1

1. 4

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
, dx :
The integral J a7 57 18 equal
(x+4)7 [x —3)7

to :
(where C is a constant of integration)

Options:
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Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T

6

(x +4)% (x — 3)%

(S8 C T& GHFEA 39 2)

Options:
' 3
3,
i {x 3} FC
-I 2 \x +4)
1/
(x "ﬂ C
2 x 4;
(I 3w|‘ﬁ'§| "
3 X =+ 4J
1 (1 Y, ¢
4 13 \x+4)

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
T dx
dsan | o — l Bud orer
(X -+ a2y |x—3)7

(sl C 2| dstnrl = unis 5)

Options: .
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Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

x :?»i_n{“g x

2
The value of J T 3
g Sin- x + Cos X

-
(1]

dx is equal

to

Options:
1 4

22':1'

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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J " xsin®x

— —dx FAAE :
g 5N X t Ccos X

Options:

3_ 22

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

27 . B
: xsin” x =
o5 G j - —dx Al [(§ua
0 sin" x + cos x
vy Ak
Options:
1 417

>
%

Question Number : 64 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
gcollegedumas
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Let C be the centroid of the triangle with
vertices (3, —1), (1, 3) and (2, 4). Let P be
the point of intersection of the lines
x+3y—1=0 and 3x—y+1=0. Then the
line passing through the points C and PP also
passes through the point :

Options:
1. &%
2. )
3. P
4. (-9, -6)

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A 9l (3, —1), (1, 3) T2 (2, 4) 9l e
1 FEF C T A W@ x+3y—1=0 91
3x —y +1=0 1 Wfa=wed fag P &, @1 fargail
C 1 P | T aret o, e 1 |1 5 fag

H of ot 272
Options:

1. (7.6)

9. (-5:—9
3, &

4. (-9, —6)

gcollegedunias
||||| s largest Student Review Platform


Stamp


Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

s (3, —1), (1, 3) 211 (2, 4) Brilbg«
Al Bsled wedses C 6. aRlL 5 Juil
x+3y—1=0 2 3x—y+1=0 o &5 P
9. dl [Bigail C =i P el wm adl e =
Al2iAl s Clguizl wel v 2317

Options:
1. (7.6
9 (=9, -7)
3. 9.7
4. (-9, —6)

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A circle touches the y-axis at the point
(0, 4) and passes through the point (2, 0).
Which of the following lines is not a tangent
to this circle ?

Options:
1 3x—4y—24=0

2 3x+4y—6=0
3 dx +3y—8=0

4 4 —3y+17=0

gcollegedunias
||||| s largest Student Review Platform


Stamp


Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

UF F9 y-A4 g (0,4) W o w @
a1 fag (2,0) E T g1 = H F
T Y 59 J 1 T o el @ 7

Options:

T 3x—4y—24=0

2 3x+4y—6=0

3. 4x+3y-8=0

4. Ax—3y+17=0

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

25 a4 y-218 A (G5 (0, 4) Hirwel © 2[5
(2, 0) Higll vz w5, dl AR wisl 59
vl 2L Al 2uels 4l?

Options:
1 3x —4y—24=0

dx+4y—6=0
2 vy

9 4x+3y—-8=0

4, 4-3y+17=0

gcollegeduniag
.....


Stamp


Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If e and e, are the eccentricities of the

2 2

ellipse, ’;—8 | T =1 and the hyperbola,

=

i 5
. . _
P 3 = respectively and (e, e,) is a

9 4
point on the ellipse, 153:2+.3y2=k, then k
is equal to :

Options:

1. 17

7 16

4. 14

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2 .2
Hﬁelﬂmezm:?ﬁﬁﬂﬁ;—g : L’T=1

-

2 2
H‘E’HWL 3’?=1ﬁm@

T A (e, e) H’tﬁiﬁﬁ 1522 +3y2=k W feerm
TFfag e Tk FIAAE

Options:

1. v

2 16
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
2

) 2
o oy 2l ey 9 wefsdl Guaen 2+ L =1
3 18 4
- .xz . - _—
ot et = 3’? = 1+l Gegizil di,
2 (), e,) # Buaad 1522 + 32 =k W (45
g1, dl k= )

Options:

1. 17

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
In a box, there are 20 cards, out of which
10 are labelled as A and the remaining
10 are labelled as B. Cards are drawn at
random, one after the other and with
replacement, till a second A-card is
obtained. The probability that the second
A-card appears before the third B-card is :

Options:
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15

1 16
13
2. 16
i
316
9
4. 16

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U T H 20 H1E 2 foE ¥ 10 W A e
faa T & 9 919 10 W B #Hfwa fommn g
T H I A5l UF & 9% U (A
Hfed) FIE a9 9% HHTel T 59 T o ga
A 9 3ifehd #T1E 9 31 90| TH A 9§ sifFa
FE F 9 B F AfFa w12 9 TBdl aH =

oIl 2 ;
Options:
15
1. 16
13
2 16
i
3. 16
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Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 B 20 Yol &, il 10 A A %

et seel 2L 8§ 2 AslHL 10 4 B

il szl 2ue 8. sl yell ol duid udd

A A ous ool el 245wl =i wl yraell wléd

qECEs {ld viusdrl 208 8. dl ={lw duid ud

B 2d o Ul o{loy vidt U A 241 el dieicel

Sedl WA ?

Options:
15
1 16

13

by & |
3. 16

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Let the observations x (1 = i = 10) satisfy

10
the equations, ;(xi. 5)=10 and

i=1

10

Y (x; — 5)* =40. If pand A are the mean
1=1
and the variance of the observations,
- T 3 x2—3, = x.m—S, then the ordered

pair (., A) is equal to :

Options:

1. 6.6)
2. G.6
3. 63)

4. &3

Question Number : 68 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

AT 9T x (1 = i = 10) FHIEHIOW
10 10 9 .
3(x —5)=10 T } (x; —5)° =40 F
i=1 i=1

T FA ¢ | A TN, Tequii x, —3, 1, -3,
ey Xy — 3 o SHHIL: HIEF T HEA01 €, 1 SHHA
I (p, A) TR

Options:
1. 656)
2. (6

gcollegedunias
||||| s largest Student Review Platform


Stamp


3. 69

4. 43

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

QRlL 5 2edisdl x(1 = i < 10) 2 w{lsel

10 10 :
S -5=10 21 Y (x; —5° =40
i=1

i=1
HHEA 53 O, od p 24 A 2L 2EdisHl x, -3,
Xy =3, i, Xyg—3 Al 2igsH HeMs i [HRel
1, ol 5345 6AS (j, ) “RIR ¢

Options:

1. (6, 6)
2. (3,6)
3. (63)

PICE)

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The value of

—_— o R o
c053('—'J : cos[:ﬁ—"j + si_na{'_'/l : 5111{3_"J
8 8 ¥ . 8

is:

Options:
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Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

CDJL%J - cm{%} 4+ sin® l\%H]
FHA T :

Optiong:
=R
1, 2

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

L1

- §in —J

i F“I'"_T"'

8

gcollegedunias
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CoS [—J . CDS[ J + sin L—J - sin
\ 8 8 8

o e seq wM)

W
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91
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Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Negation of the statement :
* J5is an integer or 5 is irrational is :
Options:

1 *«.'Jg is irrational or 5 is an integer.

V5 is not an integer or 5 is not
7  irrational.

V5 is not an integer and 5 is not
7 irrational.

A V5 isan integer and 5 is irrational.

gcollegedunias
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Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o,
/5 UH qUuis & A5 i g o e
e

Options:

1. 5 i ¥ a5 e i

J5 U quitE @ & @ 5 ey e
5 Bl

5 T quits @ ¥ 3 5 st
3 I

4 5 T ¥ SR s s #)

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

CHT!
U5 Byells vl & a5 S vl v
69" o (e o] 2 )
Options:
5 B wdiin v B @il 5 9 yels
1. v,

V5 @ yells dval A2l 2L 5 o] vy
3 vy el
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V5 2 yells dval A2l 2 5 B wR{Ry
3 vy el

V5 wyells dval § @i 5 W wpiiy
4, Hvas.

Sub-Section Number: 2
Sub-Section 1d: 405036127
Question Shuffling Allowed : Yes

Question Number : 71 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The coefficient of ¥} in the expansion of
(1+x+x9)0is _

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: O

(1+x+x3)10 F gar & x* 1 TF 2
|

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

(1+x+22)10 Al [Eadzemi x* Al Uerles
. - )

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
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Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The number of distinct solutions of the

equation, log%gmx =2 lng%cnsx n

the interval [0, 27], is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

THHL -lnglsinx = 2 - log|cosx %

AW [0, 2] W 91 2=l *1 G 2
Is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

sl [0, 2w] Wl uMls:a
-loglsinx = 2 — log;|cosx Al (G G3al

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 73 Question Type: SA
Correct Marks: 4 Wrong Marks: 0
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If the vectors, p = (a 4 1}';'. } a;r' Fak ,

E:a? F(a 1};

— )

...
Il

[EE— 2
coplanarand 3{p - q) A

2
— —
rxq‘ =10;

then the value of A is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

ltol

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

afe  #fgw Ez(al]}? | a; b

q =ai +@+1)] +ak e
_1"=a'; Ia} I (ail}gafaﬁﬂ}m
i .'—} — ) - —}2

%Wfﬁtp'q_] hrxq‘ —0 & @A

FIHA 2 t

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

ltol

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

'ﬁ'.
™y

A ulkwl  p=(at1)i +aj +ak,

— A s
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If for x = 0, y=y(x) is the solution of the
differential equation,

(x + Ddy=((x +1)2 +y—3)dx, y(2)=0,
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The projection of the line segment joining
the points (1, —1, 3) and (2, —4,11) on the
line joining the points (—1, 2, 3) and
(3, —2,10)is
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